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7.5 Kites and Trapezoids

L Bellwork
MN is a midsegment of AABC. Find the values of x and y.

A 3.

A kite is a quadrilateral with exactly two pairs of
congruent consecutive sides.

D
Kite ABCD
@) Theorems
Theorem 7.18 _ Kite Diagonals Theorem
I a quadrilateral is a kile, then its diugonals are I'd
perpendicular, 1‘--,.,_‘_
If yuadrikaveral ABCD is a kite. then AC L BD. 8 <,\ 0
Proof p. 401 A

Theorem 7.19 Kite Opposite Angles Theorem

If & quadrilateral is a Kite, then cxactly one pair ©

of opposile angles are congnient. A

If quadritweral ABCD is a kite and BC = BA. i i//_::) n
then ZA = £Cand ZB % £D. 5 i

L Proof Ex 47.p. 406

In kite ABCD, m/DAB = 54°, and % :
m/CDE = 52°. Find m/BCD. /W
MLDCF = 90-52738 E—DEL

mLBED: 2(3f):-70° **

nd m. ABC. Find m/FDA.
MLABF=Qp-27-03° mLFDA = (b3°
MLABC -0 3+4527 115°

In kite PQRS, PQ = 5 and RS = 7. Find the
perimeter of the kite.

P-5+S+7+F =24
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A trapezoid is a quadrilateral with exactly one pair of
parallet sides.

Bases - the parallel sides

Legs - the non parallel sides

Base angles - consecutive angles whose common
side is a base.

thner prialey

isosceles trapezoid_ - legs of a trapezoid are
congruent.

 Thearems
Theorem 7.14 Isosceles Trapezoid Base Angles Theorem
1T a trupezoid is isosceles, then esich pair of base sngles is congruent.

1f trapezoid ABCD is tsoscales. then ZA = ZD
and ZB = ZC

Proof Ex. 39, p. 405

)

Theorem 7.15 Isosceles Trapezoid Base Angles Converse
1 4 trapezoid has a pair of congruent base angles, then il is an isosceles trapezoid.
1M £A = £D (or if £B = £C), then tiapezoid ) [

ABCD is isosceles. D
Proof Ex. 40, p. 405 D

A

o

Theorem 7.16 Isosceles Trapezoid Diagonals Theorem
A trapezoid s isosceles if and only if its diagonals are congruent.

Trapezoid ABCD is isosceles if and only
A

Proof Ex. 51.p. 406

Find mZA.
mLA = | 50 - 100
|
[ g0°)
Find mZF.
mLF=1§D-49 - £ —
|7131°)
f:?.’,: ’%’3..5, and NL = 14.8. K@L

KM= Jo.0t 14§
[ﬁm s ZSOL’

> ™
U!m

<

AD = 12x - 11, and BC = 9x - 2. Find A B 2
the value of x so that ABCD is 14 Iq = L/X —13
isosceles. | 2X

12x-1= 9x-2 c R 32 =2x*
-1l =2 )
2%=9 f)(:ﬂ +-lXX
Inkedsats Vg TR =

T
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The midsegment of a trapezoid is the segment
whose endpoints are the midpoints of the legs

[ Midsegment
/ 5

Trapezoid Midsegment Theorem

-Parallel to each base
-Length is the average of the bases

B = C

x/ 1y XY:%(BC+AD)
il = = X
. 13&5
Find EF. A ZS ?%:D
EF= L (135 +5) S}j—f
F 3 G
Find EH. %, 163 Y

XY= 4 (Fe +H) 33=25+eH T
wssposrmy” (878

Solve for t. " : .
t
< /0
2t = 4 (et ) . N
Yt =S 17]
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Quadrilateral DEFG has at least one pair of opposite sides congruent.
What types of quadrilaterals meet this condition?

PO\W[(J(OOFC«MS (iné. reck, romous, sjuares)
isosce oS 4 pezorads

Give the most specific name for the quadrilateral. Explain your
reasoning.

8. S 9.
50 50
R T

51 51
u

Ki4

Homework:
pg. 403 #7-12, 15-18, 21-28, 31-34



